20209 H22| AA4HE X|USFE UL HI|AIH SAIHZ[EE]

8 3 SAIXS MUY | SR | SAIY | SAlE =] —.
A 1,639 | 18,384 | 13,634 | 74.2%
Lot dom AYEE 45 1,027 696 67.8%
Lot dog A 52 2,034 1,436 70.6%
A pS by ZIZFA| 36 827 597 72.2%
LutA™HIT S3A 33 500 391 78.2%
LBt AHEA 12 266 199 74.8%
Lot dog Aol A| 78 1,261 953 75.6%
LBt LAA| 20 382 302 79.1%
LutA™HIT HHIA 16 326 236 72.4%
LBt L AEA] 11 394 224 56.9%
Lot dog o|HT 13 122 107 87.7%
Lot dom stot 29 249 219 88.0%
Lot dog S 27 249 214 85.9%
Lot dom oy 9 135 112 83.0%
Lot dog ol 29 176 152 86.4%
LBt Sts T 19 174 139 79.9%
Lot dog MET 22 184 165 89.7%
Lot dom st 21 222 192 86.5%
Lot dog HEgT 12 150 117 78.0%
Lot dom StE T 44 231 197 85.3%
LutA™HIT cod 20 170 136 80.0%
Lot ™Hog (Eoh) ca 63 191 152 79.6%
ULAHHIF(HAE) cod 24 106 73 68.9%
X Mo= AMEE 1 35 21 60.0%
XMoo= A 7 186 142 76.3%
X Mo= ZIZFA| 2 82 61 74.4%
X M9= S3A 1 15 12 80.0%
N [Eh=) ABHA| 13 184 138 75.0%
XMoo= abs(PN 3 47 37 78.7%
XMoo= oy a 2 35 25 71.4%
X M9= e 2 33 23 69.7%
X Mo= e 1 17 11 64.7%
X M9= ol 2 13 10 76.9%
NE L [Eh=) Sts T 1 18 15 83.3%
XMoo= 8 3 46 40 87.0%
N [Eh=) ohe T 2 14 10 71.4%
X2 Mo (ZHOH) =g 9 11 6 54.5%
XLMHoF(KAE) cog 1 3 3 100.0%
HMitog AL E 1 13 7 53.8%
Mitoz SEA| 2 68 43 63.2%
Mitog NESN 2 45 33 73.3%
Mitoz AHE A 1 10 5 50.0%




5 8 9 SAIXS MEolel | EQICI| | SAIQIE [ SAlE |
Moz ABHA| 2 40 28 70.0%
Miog LAA| 1 18 11 61.1%
Moz AT 1 14 9 64.3%
MAitoz HET 1 22 12 54.5%

M4t (EoH) co 2 4 4 100.0%

At2| = X9 AL E 1 90 52 57.8%

Ar2| E X9 ZIZFA| 19 147 121 82.3%

A2l S X[95 SGAl 16 134 109 81.3%

Ar2| Z X9 AFEA| 5 59 45 76.3%

At2| = X9 AolA| 45 528 392 74.2%

Ar2| Z X9 HEIA 6 90 57 63.3%

At2| = X9 L AEA] 2 40 21 52.5%

Ar2| Z X9 ojld 7 125 98 78.4%

At2| = X9 S 4 58 46 79.3%

Ar2| E X9 ol 1 14 11 78.6%

At2| = X9 StsT 2 25 21 84.0%

Ar2| Z X9 st 2 38 25 65.8%

At2| = X9 8 3 43 35 81.4%

Ar2| Z X9 e 5 85 57 67.1%

Atz S X192 (Z0H) =g 22 50 44 88.0%
A2 Z X958 (MAS) cog 8 17 13 76.5%
NS AYEE 1 15 9 60.0%
NISEL=S A 5 104 52 50.0%
NISEL=s NESN 2 23 17 73.9%
NISEL=S AFEA| 1 11 4 36.4%
NISEL=s ABHA 3 48 33 68.8%
NISEL=S LAA| 1 9 4 44.4%
NISEL=s ahotat 1 6 3 50.0%
NISEL=S ol 1 10 5 50.0%
NS HEgT 1 10 4 40.0%
%7095 HEIA 2 15 14 93.3%

LT A 9= AL E 1 16 7 43.8%

L7 A 9= SEA| 2 93 65 69.9%

Let7| Aoz TIFA 5 75 51 68.0%

L7 A 9= S3A| 1 25 17 68.0%

LT A 9= AolA| 1 19 9 47.4%

L7 A 9= LAA| 3 49 30 61.2%

Let7| Aoz HHA 1 17 10 58.8%

L7 A 9= L AEA 3 33 19 57.6%

Let7| Aoz ol 1 8 1 12.5%

L7 A 9= N 1 13 6 46.2%

s87A49= Al 1 5 1 20.0%

Se71H 9= ABHA| 1 5 1 20.0%

Lut™ 7|95 HaEE 1 12 9 75.0%
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5 8 9 SAIXS MLl SAlE il
A=95 N 4 94.7%
Hn=x9z ST 1 66.7%
INESIeI=s TIZFA| 2 61.1%
INESICI=s S 3A| 1 80.0%
INESIeT=s ABHA| 5 67.6%
INESISI=s LA 1 100.0%
INESICI=1 LAA| 1 66.7%
INESISI=s ojgd s 3 82.4%
INESIeI=s atot 2 82.6%
INESISI=s SR b 1 100.0%
XHow e 1 100.0%
INESISI=s ol 3 60.0%
INESIeI=s Sts o 2 100.0%
INESISI=s AT 1 100.0%
INESICI=1 HET 1 75.0%
INESISI=s ST 2 100.0%

SN L=y AYEE 1 44.7%

RN T 2 59.1%

PN L=y 1 71.4%

RN LT 1 36.8%

2xH et o= Py 1 61.5%

RN T ol 1 50.0%

SN gLy Stsm 1 87.5%

sH7|=9= A 2 55.0%

st7|=98 TIFA| 2 66.7%

si7ls98 S 3A| 2 90.0%

sil7l=95 ABHA| 2 47.1%

sM7ls92 ngd 1 100.0%

sil7l=95 St 2 66.7%

si7ls98 AT 1 62.5%

sil7l=95 HET 1 14.3%

MALS A7 295 AT 4 68.0%




